R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, TX-4212

Endura

P RODUCTS, I

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal detadils (Ultimate Flip Lever)
3 Astragal details (Ultimate Multi-point)
4 Astragal details (Ultimate Humicane)
5 Door panel details (flush glazing)
6 Door panel details (lip lite insert glazing)
7 Horizontal cross sections
8 Vertical cross sections
9 Frame anchoring

73.94" MAX. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)
81.125" MAX. O.A

FRAME HEIGHT (OUTSWING)

/
W

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

1

NOJ| DATE

N

REVISIONS

oaTE: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

XX | LIP LITEINSERT | INSWING +35.0 -35.0 +45.0 -45.0 +40.0 -40.0
XX | LIPLITEINSERT | OUTSWING | +40.0 -40.0 +45.0 -45.0 +40.0 -40.0
XX | FLUSH GLAZED | INSWING +40.0 -45.0 +55.0 -55.0 +45.0 -50.0
XX |FLUSH GLAZED | OUTSWING | +50.0 | -50.0 +55.0 -55.0 +45.0 -45.0

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET 1 oF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



"ON|] SLNVLINSNOZJ aNIaTing ‘Mm"sy 2102 0]

ZS8Ll—4 # NOLVMISIOY 40 ILVOIHILNEO SNOISIAIS .
SHIANIONT TVNOISSIJO¥d 40 Qu¥vO8 SvXaL CEIEPREERERATY D) Ad 31vd [ON| o
SVLIA TVOVHLSY o il |0
T — S41 TUS_ONWVINOLYY 030Qv[%1/20/1 [ L ||| &
SBEEF 14 OOMIDA 0SZ XOH ‘O'd \§ ATBNISSY HO 18Vd | S41] NidvO Nid TYOVHLSY M3IN 0Qv[S1/S0/5] 2 | o = s |®
"ONI ‘SINVLINSNOD ONIaling @. N . 2 2_
© LB Eg &
£ZI¥OL# "3'd Svxal gk SR g
‘3'd ‘PIWYSS ‘4 UOPUA]  :Ag peupdeld sjuswinooq :10N00¥d 5|2|8|5|5 &
woLOo9 .
o
« N
[6] f M
J| & 1
fliz[ s 1+\
I 5l
. T‘/u. % m —.u _ :wN._. {
" 58 -
3 in
T VR 2
s @ [a] %
= = 5
B N w = O
) 2Q O
5 2 T = 57
S o) e <
~° =
< /
Q
Q
S
= tu - WS9C
~ O
(7]
oz
o
-
C -l
zZ
<
B
in
™
~ (72
g " _ =
18- m o
& ¢ g :
| .m I W
. _ Lu Z
] — & 3 O
> © o) <<
o
dOlL 5 2 9 %
o O = T
2 £ T >
© Qa B o
< O L e
= O N el
g = = .
T E x >
: s o
2= &
o . ==
Q
1% a >
& 2 > 2
oz = i
= Q i (.
o .
= Q
= Z
o= T
H T O
SE < ) 1
= X 7 <
! 2 O
5 |0 =
N
2 &
s
) 2 E <
Ve - E O
&, W\ ¥ 5 =
(.‘ 4 AY kv A_ E
7 ] r g
s o
2 —
£ 5. G T
2 9 2 1w
.m o0 a —
< g : <
) £ 5 =
o € —
2 =
= oD
©
: N L
o AN~ = N — AN i\ SN
8 W\ \ e v N

Z-T ‘BMP'ST-ZTZh-XL\WUaLnD\SBUIMEIANTTY - IL\SU] 40 1da@ sexa 1\ LNINVIAYI BINpu3\sIuaID\'Y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-3

[,

Upper Bolt Sleeve - Aluminum

u Upper Latch - Reinf Resin
[
o St

Latch Actuator
eel

Aluminum Body

Lower Bolt Sleeve - Aluminum

(2)#8 X 1-1/2"
PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS
(4)#8 X 3" PFH WOOD SCREWS

Upper/
(2)#8 X 1-1

(2)

Lower Latch - Reinf Resin

sy

ULTIMATE MULTI-POINT ASTRAGAL

uj
© 3
83 2o
[ 0 [TTHTo}
£%* B yw
Yy gof e
Sg E 0% §z
$ Bl =22 Go
0 : - 5 KT8 nE
o, §81 0 T g2n fiE
2 el 1 ) Zoo 7]
o™ § 88 Eg
3 285 by
g 9.5 g°
= — - § 5038 Bu
B T el © - = e i & Bod 3%
225" —| |- £ = §E
L
33.75" £ @ bo
a
52.0"
60.0"
=
a 77.75" = nS
O ANCHOR SCREW LOCATIONS 8 =5
< =
Upper Latch Lower Latch g i 5 321
[ o <<
r - S |3 g
[ U]]::EW =,—ﬁ: BY 'Q.l:ﬁ»:m N Q (;7)%(
f=— 1.75" 175" — |=— 75 e ol =
; 9 o 2
7.5" S e
35.5" LATCH ¢ -
= 410" DEADBOLT [
&
Lower Bolt Actuator Lever - Zinc 2
(O
<
/2" PFH WOOD SCREWS Sl
1.82" | 22| 18
#8 X 1-1/2" PFH WOOD SCREWS 25| @
=S5
< E" %
E <
=8
— [a) =]
[a) =}
<<
! 0]y
3 BN
(2)#6-32 X 5/8" MACHINE SCREWS o i SRS
1 Qp m =
0063 ——{=— = =[S
Z DATE: 8,/09/12
E ‘ ScAE:  N.T.S.
—_— DWG. BY: JK
CHK. BY: LFS
. DRAWING NO.:
Astragal Section TX—4212

SHEET 3 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



RAClients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-4

8" 38"
PUNCH OUT ——\
=§ﬁ : (-] (-] ° (-] A\ o (-] o (-] : §.=
275" —=— —+] - 2.50"
375" ) 3.63"
8] -~ 10.75 - ~— 10.50" ———
o s — l~—— 18.50"
' -~ 26.50"
ANCHOR SCREW LOCATIONS
'=i_.j! O} oL )] o3| O | i —
< L 5.5" ! 35.5"
<
6'-8" ALUMINUM ASTRAGAL ASSEMBLY
By Endura
BOLT RETAINERS
SLIDE BOLT ROD | 19.63 —A, i o
VIEW A-A T
Aluminum Astragal Assembly SLIDE BOLT ROD
MATL: Steel
//
- #8 X 3/4" PFHWS I
2 ! DEADBOLT STRIKE
o PLATE
in 1.63" " i
3 ; |<—*f— #8 X 3" PFH WS 1
J QY LATCH STRIKE
‘1 ? PLATE
178" =— BOLT RETAINER

ULTIMATE HURRICANE ASTRAGAL

MATL: 9-3/4" Aluminum

LATCH & DEADBOLT DETAIL

-
L

Dx::'\:'\?'-ﬂ‘ " ~

~
N

BOTTOM

38.188"

SEE DETAIL

ASTRAGAL

4
LN
o 0
Yo 14
[ 8 L
'5* o M
ou Ol ©
cZ z
e = N i
)
c & -— - |
o o <
o Z94s Z
<Ly o
c T =
2 459 9
a>n@
Zow &
3 g9R. &
@ ON =« o
o 238% u
2 Zmg O
g 255 o
[ 50¢ %
o Doa g
: =,
-
c
o
E g
3
(3}
0
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

LFS
Y

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NO., DATE

2
1

REVISIONS

oatE: 8/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET 4 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.




TOP RAIL

(PVC) ™\

AR
o 1)
T . ?
’.\ C . ?
Ly -~ .
"y Lo
-
% NS )
- .
L i3
= (¢ S
R 2 0
% A LI "
4
Y 3 E .
i YT v 3¢
. o Ll ot ¥ o7
- - - b .
L s 5 AN
: - s : 7 /ey, o+
v 3 - N e
. v . .
I ; P . s .
324 .
5 \, . + 2
5 2 ., . 2
. % Ay &3 27,% -
n N . . o
. . ».X . :
. . L O Poe s e o ¥
. I 3 b3 i Cre .
=T M
I/ % .
P >
- .

.. o
EXTERIOR a

FIBERGLASS SKIN |
WOOD STILE (0.075" MIN. THK.)\ |

1.18"

——{ 097" }=—
0.78"

STILE CAP (PVC)

-

0.66" —= —~—

INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

//
/7

1O
:U):
Lo
O
o !
>~
5

813.659.9197

[——— ]‘75" —

NS

“y

STILE CAP (PVC)

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:

WOOD STILE

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

REINFORCED WOOD
LOCK BLOCK
(20" HIGH)

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-5

35.75" MAX.
PANEL WIDTH
26.25" MAX
D.L.O. WIDTH
o)
= T
86 %0 1
32 2% 7 5
=w w O
EO z v !
N X a
o~
~

PLASTPRO
Flushglazed
(Fiberglass)

/1" HORIZONTAL CROSS SECTION

\58/

1/2" GLASS
BITE

INTERIOR

EXTERIOR

GLAZING DETAIL

G1

Flush Glazing

— 5/8"NOMINAL GLASS THK.

1/8" TEMPERED GLASS

S AR SPACE

? ~~~—1/8"TEMPERED GLASS

SILICONE GLAZING

COMPOUND

INTERIOR

FOAM CORE .
(POLYURETHANE )

.
/4
2
BOTTOM RAIL
PVC] S

EXTERIOR

1.18"

7“2\ VERTICAL CROSS SECTION

\&/

ENDURA
DOOR PANEL DETAILS
(FLUSH GLAZING)

PRODUCT:

LF
BY

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:
1/07/14 |ADDED ARTICULATING SILL

2
1

NO| DATE

DATE: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4212

SHEET 5 oF 9

© zo12 R.W. BUILDING CONSULTANTS INC.



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-6

1.2"

EXTERIOR

1.2

0.7" 28" TOP RAIL
(COMP.)
0.4 04— |~
/1 INTERIOR 0\ A
—r I T = e L L 1 }
S 4 . - . b ; )
oS e D 3L R i
5 RS . 7. : P ot N 1 > . —
h ‘e e 4 E ",_'43. . .- o . " NN \ ¢ . I
Lﬁ rie L A aa b o» s il il Y : b
/ \ EXTERIOR \ LA
CAP (PVC) ST
HINGE STILE (LVL) LATCH STILE {LVL) CAP (PVC) S
R
/ 1"\ HORIZONTAL CROSS SECTION
e
35.75" MAX. @//
PANEL WIDTH
INTERIOR \
21.0" MAX , P
D.L.O. WIDTH
#6 X 1-1/2" PH SMS
[
GLASS BITE 1/2"
INTERIOR
2§ ———1/2" NOMINAL GLASS THK. —
A !! | —1/8 TEMPERED GLASS _
1 IS ~— AR SPACE T
o = oS FOAMCORE —~._ || “ '
S = N S ~~—1/8" TEMPERED GLASS POLYURETHANE) Nl "~ 22,
oo <~ 1 S i IS
;o s W Y gl
= ZT 7 6 STEEL SPACER RPN
>d &0 <A
22 ‘o EXTERIOR QSO SEALANT Tt e
o~ Loty
~ LOW TACK SEALANT FIBERGLASS SKIN . SF T
(0.075" MIN. THK.)\ - -
GLAZING DETAIL SRR
Lip Lite Insert Glazing " AT,
> BOTIOMRAL ™| _H iIx
(COMP.) L7 e
PLASTPRO
Insert glazed
(fiberglass) 2\ VERTICAL CROSS SECTION

&/

AN
A

AN

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS

REVISIONS

5/05/15 |[ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

1

N

NO.,| DATE

DATE: 8,/09,/12

SCALE: ~ N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4212

SHEET 6 oF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-7

1/4" MAX.
SHIM SPACE

EXT. SHEATHING

P

0.15"
=— C'SINK
(TYP.)

2X FRAMING ——

(G >=0.42) \

#10 X 2.5" PFH WOOD SCREW
—

— JAMB
ENDURA WEATHERSTRIP

:
/

(991)

CORNER PADS (TYP.)

/

(QEBD/PE 650}
INTERIOR

N

DRYWALL _/ /
#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

\ EXTERIOR
#8 X 1" PFH SMS

4"HINGE

/"1 "\ HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

ENTN AR
e e

ULTIMATE FLI

T~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ (980/985)

/// [T~ LATCH: KWIKSET SIGNATURE SERIES
//

P LEVER ASTRAGAL

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

ENDURA WEATHERSTRIP

(QEBD/PE 650) / DOOR PANEL

-

\\

-

#8 X 3" PFH WS
#8 X 1" PFH WS

@ HORIZONTAL CROSS SECTION
7

W
LN
e 0
Uo © 14
Ex o o
S oz
0 i Om o
e £ N &
W %
c ‘d?’- .|
§3 Eoa 3
2 <99 ©
gP TN =
3 dge 9
a>v 0
- {
ZOom o
3 SR. &
@ ON % o
O xz
o L
4 Z’1(311 o
g 9.5 o
o 50¢ E
£ nox g
a ;J§ o
L =3
=
S 2
3
3 =
[+
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS| PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

2
1

NO.| DATE

REVISIONS

DATE: 8,/09/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET 7/ oF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-8

EXT. SHEATHING \ |
Y

1/4" MAX.

SHMSPACE Ll

DOOR PANEL \

0.15"

C'SINK
(TYP.)

EXTERIOR W

\— HEAD

ENDURA WEATHERSTRIP

ui

(QEBD/PE 650)

INTERIOR

71"\ VERTICAL CROSS SECTION

W Outswing shown - inswing

also approved

INTERIOR DOOR PANEL
ENDURA WEATHERSTRIP _\\\
(QEBD/PE 650)
ENDURA THRESHOLD

(Z-SERIES OUTSWING)
ZOB4565FN (shown) \

EXTERIOR

2X FRAMING
> (G>=0.42)
LTS

/ DRYWALL
}—#10x25pFH
WOOD SCREW

EXTERIOR

ENDURA DOOR SWEEP

ENDURA THRESHOLD

(Z-SERIES INSWING ADJUSTABLE)

ZAI4565FN (shown)

DOOR PANEL \
(DBK-R)

N

DOOR PANEL
ENDURA DOOR SWEEP \

EXTERIOR //

INTERIOR

ENDURA THRESHOLD

(Z-SERIES INSWING ARTICULATING

SILL w/ PIN CAPTURE)
#ZACL4565 (shown)

(DBK-ZAC)

I

1/4' X 2-3/4"ELCO OR

#10 X 2.5" PFH WOOD SCREW

ITW CONCRETE SCREW
/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration

//

INTERIOR EXTERIOR /. INTERIOR
DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-AC)
ENDURA THRESHOLD AR
(Z-SERIES INSWING ARTICULATING) D)
ZAC4565FN (shown) )

07

A

AW \\\\‘.‘\\‘\\,

=

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

@ Outswing shown

#10 X 2.5" PFH WOOD SCREW

1/4"'X 2-3/4" ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

W Inswing configuration

RIn

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

w Inswing configuration

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

[9p)
=
S}
G
e
wn
3
S |-
a |5 o
= |o| X
(] S| O
7] I
<
2 o
= & B
O [0y
= oY
o E
& <
o o
n|v|s-
] ] 2
W
[
S
=
<
Mk
2%
o %)
o
) Z,
?‘gg =
< Y)
Es >
0o L
NE @
=
i
w
38
<<
0|
L
SN
olo|«
[\
0|~
~lo
NTI=Z
DATE: 8,/09,/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4212

SHEET 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 1-9

TOP OF

6.44" FROM
DOOR PANEL

—
K|
e

37.625"

2X framing (by others)

-

6“

~ (TYP.)

”
(Tvp) j’f &
| ™ ey
T T

|
|

‘\IN DETAIL 1

I

6"

(TYP.) —J =

Astragal Strike Plate

@ Head Jamb
= l\o :] =

AN

N\

#10 X 2.5" PFH WS

i DETAIL 1
5 |
g ° I
® |
n ,. -
|H #8X 1 PFHWSé:._
i | . !
> o
L <
£ * DETAIL 2, 3 OR 4 = % HINGE DETAIL 1
| I 1 JH1 L ]
4" (TYP.) ﬁ Mo X 2.5" PFH WOOD SCREW 410 I
4 2'(TYP) 1/4 X 2-3/4" ELCO OR WX TPRHWS < T
HINGE JAMB [TW CONCRETE SCREW
(TYP @ SILL)
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING
CONCRETE (MIN. 3000 PSI XX
WO(()D (G>= 0,42; HINGE DETAIL 2
*NOTE: This anchor required for D.P. > 50 PSF.
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4"ELCO OR
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ITW CONCRETE SCREW
maintain the min. edge distance to mortar joints, additional concrete anchors i 1/2" DIA. HOLE (IN CAP)
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2 Dl/{\. HOLE
® 7 © oo o N
DS \t S = Z = > - ®
'Tw ® " " 2 1 2" 3||
TAPCON® | 1/4 1-3/4 F1i DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4
ELCO , ., . . Outswing Inswing Inswing Inswing
utRACON®| 1/ 1-3/ ! 3

% #8 X 2-1/2" PFHWS

®

ol "= #8X3/4"PFHWS
~— 4" X 4" HINGE

\

A\
P #8 X 2-1/2" PFH WS
=~ #8 X 3/4" PFH WS
— 4" X 4"HINGE

N

ASTRAGAL PIN
CAPTURE
COMPONENT

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

[©)
=
S
& T
> O
o =
= <
'-'-' W
3
oz
B L
o
=2
[m)]
o
o
(518
0
>_
Sl

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS| PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NOJ| DATE

—

2

REVISIONS

oaTE: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET 9 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



